oS 1" ¥ 0= AB
26cm, BC = 24cm, AC =
10ecm 0]l /C = 90°¢1 2z}
Ak ol skl et WA
09 ¥R 59| ZAol=?

@ 1lem @ —cm ® 2cm @ ;cm ®)4cm
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~AE-ED = g = 4.5(cm)
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AM = 3k,CM = k 2} 5}

12x 12 = 3k x k, 144 = 3k>
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MA® = (26) -42 =8
. MA =2v2(cm), OM = r - 22 (cm)
42— (r—2\/§)2, 42r =24
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ox =18
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29. o= ™I E2 9 0 oA A OABC 7F BaAbdge] & o,
¢OAB 9| A7|& F-sto=t,

[> Heh: 60 °

(AOC = 2a B T AHZHY ABCO 7} HPAtHFol B2
/ABC = 2a

Oh 133 Zol A 9ot H D E o

/ADC =a

AHZE ABCD + 9ol Yiste g

2a+a=180° .. la=060°

AHZte ABCO 7} HaAPH 0| B2

/OAB + /AOC =180°

LOAB + 2/a = 180°
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30. o2 194 X EF = 9 0 ¢ HAol1 LAEC = 90°, /CAE =
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\VARR 4
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AACE |4 Z/ACE = 90° — 20° = 70°

AAT o] ThpA] o] R Zhe 11 71o] Y Hof 9l T o] U
Zrol 7|9t gomz

(ABC = /ACE = 70°

2 2o gt BFZHE 90° o] B2 /ACB = 90°
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